Graphing Nonlinear Equations

Graph the following equation ¥
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Now graph the equation: ¥
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How is this graph different from the graph of y=x*?



Now graph the equation: v
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How is this graph different from the graph of y=x’?
Now graph the equation: ¥
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How is this graph different from the graph of y=x*?



Now graph the equation: ¥
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How is this graph different from the graph of y=x2 ?
Now graph the equation: y
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How is this graph different from the graph of y=x"?



Practice: Graph the following quadratic equations.
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